BUTEX Admission Test 2016-2017

0l. 2ms™! &4 558 4kg S G I8, FeigE ST 8 100N/m ek &<9F F=iF I=EE 0w 7iad 701 Fagoe
T ALIIN -
(a) 0.4m (b) 0.8m (c) 1.6m (d) 2.0m
TAYE: (a); IO TS o= Feie-q o =3

.-.%m*.rz:%kxz:bx: ‘“%2: ’4::=U.4m

02. ©= ¢ e G Wl WoF g ATHATR iva Sromma AT 2018 I (I @i QRIT?
(a) IO TF (b) AT TS AT () TS Y (d) 32 =r© “fied
FAAMYI: (b); SIAN@IE “1dwT ZHe S e, TSI SHol TS | ©fF IS L6 HSA! AT |

03. O SR GO 7 et 2Ny 2w o oy $7

(a) ()2 ©) A (d) 22
R 1 Y
STR: (@); ot orrdieny = 3 “’M“’H"f?ﬂ—

04. TG oTF GIIE SR FAIAIR AR 440V — 60A %S Fa1 Wtz | TF #iEH (UtF Aol 1.2m 5 @1 e 1w
CHFLaE W FS?

(a) 1073T (b) 1074T (¢) 10~°T (d) 10~°T
T (c); B = Lo = 4T _X90 _ s

2mx1.2

05. W=D Tolar A3 wrea I fcy g@rR) @bt SN *itorte = a7 +ifS Toits 2=-
(a) 20% (b) 30% (c) 40% (d) 60%
AL (c); *R Sr1a Fg W gae v = (/gR ; SR #A0e A Sfewi@ @, v, = /28R

= oI TS 7@ = *“gjg_*’g“ x 100% = 41.42% ~ 40%

06. @F St AT X AN Y km @32 78! Y 6 X km T3 ﬂ‘r@ﬁaﬂwmar-?
(2) 60ms ™" (b) 60kms ™1 (c) 60mh™1 (d) 60kmh 1
FAY: (d); 0 X+ Y WG 9w X + Ykm -« %Eﬁ—ﬂl{mmm ? = 60kmh™?

07. Wit (SHER W4T U6 Toa faad @3 awaﬁﬁmw@ﬁﬁaWWMﬂwmw-
(@) cos™ (2) (b) cos* (~2) (©) cos~t (1) (@cos (3)
FAAL: (c); &Ts, (2P)? = P? + (2P)? + 2P.2Pcos@ = cos 6 = —-f—; = 0 = cos™? (_ %)
08. CHIGGAA &A% Ay 66304 T *Ifes F&2 |

(a) 1.6 x 1079 (b) 2 X 10719] (c) 3 x 10719 (d) 9.1 x 10-31]
A (c); *f = 1 = ﬁﬁ?ﬁ’;‘;;i":_if““ ] =3x107

09. ﬁmwawﬁﬁwr%u | BF CFIBT ¢ 1000 B 98 735 ot tof 359l 21| 1B celBra it wepifes 2ot
(a) 1000 U (b) 100 U (c)10U (dU

HATY: (c); 1000 (RI6 GFIGIA WA 1 IS (01 T ST+ |

RA2
%1000 x 3mr® = 27R? = R = 10r - B wopfRem et = 220a) _ 4

4mxR2

10. SERIA G0 =171 S a 7Y FAUG (@ [9TS Gy CHead F 57
(a) B =42 (b) B = L= (c)B = e (@) B = o

Zma

[Ans: c]

*
/

|




1. 93 3m MO 5TF JFT VT ©F 4kg Wolb ARRAPIN oFF @% @ @R 96 TF Aors sooi ST
97
(a) 4 kgm? (b) 12 kgm? (c) 4 kgm™* (d) 12 kgm™?
STII: (b); AR ACATE TTBR Tgol S = ~ML? = - x 4 x (3)? = 12 kgm?

12, {069 1S 901 QIR0 NS g i = Iwia?

(a) TS (b) T3fSpTa (c) ef e (d) FioTeror feFat
Y (d); TOIOGR TFAT STala Oao 437 Mo 9= T4 9 = |

13. 4.5 X 10°%kg ST G0 TFq FHNZH ~fF T 93 IPIE T T2
(a) 4.5km (b) 6.7 km (c) 8.5 km (d) 9 km

TN (b); R = zf—z” = 6.7km
2
14. WW%WW$WWW#4%+ 100x = 0 5 97 (FIfAT FTT o J?
(a) 2rad s? (b) 4 rads™? (c) 5 rads™! (d) 100 rads™1
2
AT (c); 4%t—:+ 100x=0= $+ 25x =0 « w?=25=w=>5rads™!

15. a3 e afesms v2 a3 Jey Ryl @t 300 30 e @il w7 237
(a) 70° (b) 60° (c) 50° (d) 40°

AIHIS: (b); SI9€t &1, p = Si"(ﬂg—m) ~ 2 = cos (5?“‘) + cot (g) sin (ET’“) s~ A = 60°

EIHE

16. 1 mole AN SIAI@ 0°C AT 200°C ITTS Fiera (e 203-
(2) *[AT (Zero) (b) 573 x 8.3] (¢) 1660 ] (d) None
AT (No correct answer); 2T (AT 2 FHE A gy (21
17.  100kg SIE OI7fal 100°C ST A9 ©F F'© IS ? [SIF WTaAfFF Ot = 0.389°K] /kg. K]
(a) 5.33 x 10~ kg (b) 4.33 x 10'%kg (c) 4.33 X 10~ kg (d) 6.5 x 10~ kg
FAAHI: (No correct answer); SIPHE! IIGITe] I8 S FANE JICT 1|
18. 1 coulomb 5% o0 SRR AT ?

(a) 300 x 10° (b) 9 x 10° (c) 6.25 x 1018 (d) 6.03 x 1034
FA: (c); 1 0 FCARGED 5%t = 1.6 X 107°C ~ 1 coulomb = Lﬁx:n-w = 6.25 %X 1018

19. a6 2GRN 4500] S T FCT QIR 2500] O I 1 FICEH A0 F97
(a) 1000] (b) 2000] (c) 7000] (d) 1000]

A (b); e Al = oIS St — afere oot = (4500 — 2500)] = 2000]

20, GO0 TN GG GNEoEE B G99 TN 100 U o G I T 2717
(a) 1.01 (b) 1.00 (¢) 0.99 (d) 0.01
T (c); o0 = -2 = =2 = 0,99

B+1  100+1

21. @30 BIFR SF 6kg AR (FA SF AATE G&F+IfS7 IBME 30cm | IFBTF 3 rads =2 gael 2 T40® F@ W7 5F
(Torque) AT TS I 7?7

(a) 1.62 Nm (b) 1.8 Nm (c) 16.2 Nm

(d) 18 Nm
AAMYA: (a); T = la = MR?a = 6 X (0.3)2 X 3Nm = 1.62 Nm
22. OB IACGA [0 SR WEIET TGS 2: 1 T G0 TS g 93 TJoiTS 6 34?2
(a) 2: 1 (b) 1:2 (c) 4: 1 (d) 1: 4

GM _ 4 R, 2
AT (a); =§=E1‘[pGR_ 'I'if:i:I




surex s 1@ |
24. 200 CITHR TSNS 4y Mo 1A SfR 2[iRS 2| F© Tt *I% 3@ F41 A 0.01A ©fbe &4iEe 2q?

(a) 0.10 (b) 0.20) () 0.50 (d) 10
AAY: (b); = = —— = r = 0.20

204T 14+0.01
25. O (TRITRN IS Y 40 T 1 7= oo 20 0 1 AIR?
(a) 40 days (b) 400 days (c) 4000 days (d) infinite time
SNYE: (d); O M “AfFae sI9s g =
26. SRR Y @ ARG TSy = 1-

(@) = (b) &fS () 1% (d) SIACAYT
TN (c); STEE FE MY 7oy F0 sfdafes g

27. OO @A 9T AT 3B/ G 18cm = wT 2T R @ -
(a) 1.88 X 10 *ms™1 (b) 3.14 X 10~*ms™? (c) 9.67 X 103ms™1 (d) 0.58ms™2

Cey W _ —d -
HAAEE: (b); v = —xco X 018 =3.14 x 10™*ms ™

28.  OF[ ATSARCH (LA ST 1.6 G IFOR IPAE 60cm T FAG TS?
(a) S0cm (b) 100cm (c) 200cm (d) 96¢cm
FAH: (b); = = (u— 1) (;_1-1-—.}2) == (16— 1) (u—’:i—é) = f =100 cm
29. b Y BT FIeTI FC I T, oW, 11T 8 AT | G @Y 967
(a) 34000 + 5% (b) 43000 + 10% (c) 3400 + 10% (d) 340Q + 2%
Y (2); Y = 34 X 10% £ 5% = 34000 + 5%
30. G0 I/ BN LS 30m ©f RS G edll 79 | @RI o1& [Reg =fes fRad?
(a) 15m - (b) 20m (¢) 10m (d) SIS

5['-ff[‘ﬂ"ﬁ(::};%1’111.1'2=2}-':m,c:,r1|{=:»%:n::n'|[|32+2g('h—1-i:)]=2:r-::rﬂg7-{=::rh-—:a;=?.:n:=:»:.'-:=§=ll.’]rn

31. C3;HgO 93 FIL TG ASI?

(a) 2 (b) 4 (c) 5 (d) 3
OH
Fa41: (d); (i) HaC — CH, — CH, — OH (ii) H5C — CIH — CH, (iii) H3€ — O — CH, — CH,
32.  IofaE AEcE TIoce e &F a2 AR Fh7? [Ans: a]
(a) ZOfaGTS (b) SIATTE (c) SIS (d) T

33, AT WACE 2re! e {672
(a) “if7re FfEe 2= (b) 2 e = (c) AIrETCIRrE ffd® It (d) None
FAYMA: (c); Fra=e fifEe It S «fas=ee atqeg =7

34, frcea PTG Wi SoEIE (FE) e T exifsre w9 =u?

[Ans: b]
(a) NaHCO; (b) H3BO, (c) St Hif (d) 1% CH,COOH solution
35. 0.1M NaOH G9t4€ 999914l ppm G<FCFE 9 24?7
(a) 40 ppm (b) 400 ppm (¢) 4000 ppm (d) 1000 ppm

HAYE: (c); 10°g BaTet fawywi 0.1 mole = 0.1 X 40
+ 106g T fWTE 0.1 x 40 x 103g = 4000ppm
36. SOy +§Uz{m = S03(); Ky, 2803 & 2505 + Oz¢e) i Ko, AT Ky GAR K, 99 YT 71 (FIH0?

() 2K; = (b) K3 = 'r:'z' (c) K2 ='1:‘1 (DK, =

N




BUTEX Shqaisss ﬂ gi

STRIYE: (b); SO, + 50, = SO035 Ky
250; = 250, + 05 5 = K,
1
37. 250 mL 0.5M HCl T3 9/92/a 97 100mL 0.1M HCl B39 &iFe F90s &rareamy A= AR 572
(a) 20 mL (b) 80 mL (c) 100 mL (d) 250 mL
W: (b); S]_Vz - SEUE = V]. = 20 mL | V;l_ = lﬂl]', Vl =?,51 — 0.5, Sg = 0.1
ofifss #ifdsw = 100 — 20 = 80mL
38. 0.001M NaOH @9 pH ¥©7
(a) 3 (b) 7 (c) 11 (d) 5
THIYE: (c); pH = 14 + log[OH] = 11

39, “Oil of Vitriol” is- [Ans: d]
(a) HNO; (b) HyPO, (c) HCl (d) H,S0,

40. IfET 97 14t electron 57 cFra 1M @RS FARIE A3F GG FIN0? [Ans: d]

n f{f m S n £ m S n £ m S n £ m S

@3 2 41 412 ®3 1 -1 —12 ©@3 0 0 +172 D3 1 0 4172

41, (SIE] COET ARAGISETT @ FHT ASR[T ZoE J35° 27?7 [Ans: d]
(a) Pt 5 (b) Fe &f (c) FAfeF 1o T (d) Ni g%

42. @M AR ow FER? [Ans: d]
(a) C;H, (b) CsH;,06 (c) H— CHO (d) All

43. N, O, F a3 fao QFad =& AT @Y @M ?
(@)N>0>F BG)0O>F>N (©)F>0>N ()N>F>0
STIYE: (b); N*(7): 1s 2s* 2px 2py 2p;
0*(8): 1s” 2s? 2p; 2py 2p;
F*(9): 1s? 2s? 2pg 2py, 2p;
O* -&q p-orbital 4= Rew 0* wfweq FfoAe a1 ~ 0F > FH > N*

44. (O)-NH, %o@mr NO, + H,0 RifeF a5 e i ? [Ans: a)
(a) ST K, Cr, 0, (b) =AW KMnO, (c) H,0, (d) HNO,

45. FrENeT Qe it SiaTe [Seracea [Ty @ wqme Qs TeeE =17 [Ans: b]
(a) SHIEGRIRE (b) SHIETCFIZE (c) e (d) el uffe

46. 200 mL 0.1M Na,CO; B3t ¥© &Y Na,CO; STR?
(a) 2.12 mole (b) 212 g (c)3.12g (d)2.12g

TG (d); AT = 0.2 X 0.1 mole = 0.2 X 0.1 X 106g = 2.12g
[H] H,S04 03 Zn/H,0
47. A » B >C——D » 2HCHO + ZnO + H,0 ©eitaw Rferam i Qoo [eeraGreiaal g

LiAlTH,  165°C
et e $a3?
(a) A (b) B (c) C (d)D
Y (c); Alkene ZTARGIFA AL R0 (771 @32 C 305 Alkene |
48. P AT &0 ARFET T ATE- [Ans: d]
(a) HNO; (b) HI (c) K,Cro, (d) K,Cr,0,
49. =g HCl B3t 2F Rie 2_ifRe a6 STP (O FRATT A H, 7T SiHe 3 2047
(a) 22.4L (b) 24.78L (c) 25L (d) 28L
FYIE: (a); 1 mole H, & 2F ST 1 919 STP (S 1 mole H, = 22.4L
50. S,0%" +1, - 21~ + S,0% [RiEFaita ATeFe FAiiewd S,0% G e A T2 [Ans: a]
(a) 2 (b) 4 (c) 6 (d)8

LI (a); TTOIFS FAFA: 2 5,037 + 1, - 21~ + 5,02

Mdaw SN

P ™




51.  "X" a3 oo +fitma aie ) v @ifore F-X—FWWWWH@?

[Ans: a]
(a) BF; (b) CF, (c) NF; (d) OF;
52.  CIoACE S RTIE 3 [ 0o T2 [Ans: c]
(a) el «fire (b) 1oBIZE () WIficat ufirs (d) FifPre
53. @I CNeTE QISTol I R0 ARG SR | Qe vl [ S&Ee | ciabd e 67 [Ans: d]
(@) P (b) S (c) As (d) Se
54. A TR YR TAWE T1-
(a) Chloropicrin (b) Phosgene (c) Chloriton (d) Methane
AN (2); @IEIEEN: Cl,C — NO,
55. T8 ECE0d B9 @FL @15 F9E W & sivemt I ?
(a) Al(s) (b) Cu(s) (c) Fe(s) (d) Sn(s)
AN (2); e o Al @ 3T
56. (TN 4IQUe 4f WY 5f WMPFeTR 4f 792 [Ans: b]
(a) Cm (b) Cu (c) Am (d) Gd
57. 0.5 mol CO, *VITH SIfSHCem “Auie 7N F©?
(a) 1.51 x 10%3 (b) 3.01 x 10%3 (c) 6.02 x 10%3 (d) 12.04 x 10?3
AL (c); 1 mole CO, ¢S 0 79I 2 (S
= 0.5 mole CO, ¢S 0 MY 1 mole = 6.023 x 1023 &
58. HAEEG TIA TG QfHOE @IS Al SY s S0 Sua-g? [Ans: b]
(a) 7l HNO; (Cons. HNO3) (b) =T{ HNO; (Dil HNO,)
(¢) 516 H,S0, (Conc. H,50,) (d) = H,S0, (Dil H,S0,)
59. @M A Syl @ HE Sad Fa?
(a) CH; — CH, — Br (b) CH; — Br (c) CH; — NH, (d) (CH3); — CCl
A (d); 3° Alkyl Halide SN SFHE9 S|
60. W64 (FHILE TEARIT AIH TH? [Ans: c]

(a) MgCl, (b) AlCI, (c) SiCl, (d) NaCl

61. (2,3) W3R (4,5) e Tes @A (3,4) Rare @ Sieiits faow 27 o 2=1-
(a) 2: 3 (b) 4:3 (c) 1:1 (d) 3:2
FAY: (c); i2 = 3 = L ==

mq+mz ms 1

62. T=1+]+k(SHAT x TUHI AN F© (el TLAF FCH?

(a) cos™? (%) (b) cos™ (%) (c) cos™ (_ % (@) cos™ — (%)

D(1+j+k 1 11
W:(ﬂ);CUSB=[)\£§H1 )=ﬁ=:ﬂ=cns 1(5)

63. The value of lim sinSx—sin 3 4s.

x=+0 5in3x=-sin2x
(2) 3 (b) 0 (c) 2 (d)1

sin 5x—sin 3x . 5cos5x-3cos3x . _ _ 5-3 _
ST (), = lim Using La Hospital] =—= 2
] (E), }.}.’33 sin 3x=sin 2x l-l-.n 3 cos 3X—2 Cco5 2X [ B P ] 3-2

64. —8 — 6i AT I FG?
(a) £(1 + 3i) (b) +(1 — 3i) (c) +(1 + 2i) (d) +(1 — 2i)
F4: (b); Option test

e IR e




N | | ST

65. B BPeTIEa §O! (T 16ft/sec (@7 TP L6 s AT 91 T ©f 9T AT (AT 80 6 HIH
STS TG | DheTiE Thel 97 [g = 32ft/sec? ]
(a) 250 ft (b) 300 ft (c) 350 ft (d) 400 ft

ST (d); vt = x = t = = = 5sec » h = >gt? =2x32x 5% =400 ft
66. T x2 — px + q = 0 FRNPACEI FTGH o, p T, ORLT —— ﬁﬁﬂﬁﬁﬁﬁwm

p—o
(a)x’—qx+p=0 b)x*> —px+q=0 ) px?—qgx+q=0 (d)gx®? —px+p=
AAHIH: (b); &9, a+ f=pdRapf=q -'-p—f; u+uﬂ_a=utﬂﬁ'&-ﬁ=m—
~ AP = x2 — px + q
67. "Permutation” =%foa Ifste it @36 T © 7o g ey FourE ™ g 9T TN, TS &fS CFa T4
YA YItE |
(a) 155 (b) 105 (c) 180 (d) 135
STYA: (b); 7B T71F = 5 5, s eFRd = 6 B @ T 2% ~ @GR = °p, x P+ °P, =105
68. y=3x+1GfDy? = 4ax *MILET G ~0ie e, “RIrea SN AF TAH (TG FO?

Il

(a) 8 (b) 10 (c) 12 (d) 12.5
HAMYE: (¢); y=3x+1........(0); y* =4ax........(ii)
t(Bx+ 1) =4ax=>9x* +x(6—-4a)+1=0......(ili)and 3 = % [B1eT 37371] ... (v)

= a=09x .-.:{':% anda = 3 -'-y2=4ﬂ=12x.'.ﬁwmm=12
69. UIL FLOF TUT YT AT (T 3.5 G ATE 9T Terqee 21 ord > ¢! ¢1e | *1te (@9 327 &/

LA FLOF TS TG 7 _
(2) 59.6m (b) 56.9m (¢) 65.9m (d) 69.5m
STIY: (b); SMNTS, 3.5 = F+ B o h=569m (t= 2—"+ﬂ)
g 327 g v
—a? ab ac
70. D=|ab —-b? bc |TADYITHFTS?
ac bc —c?
() 320 (1) ab (c) 4a”b?c? (d) a%b2c?
-a? ab ac -a b ¢ -1 1 .-1
AYE:(c);D=|ab —b? bc|=abcla —-b c|=2a%b%c?|1 -1 1 |=4a%b3c2
ac be —e? a b -—c N LW |
71. y=x*InxTA xy; =7
(a) —2 (b)3 (c) 2 i (d) =3

HAAYI: (c};y:xlln:{:vyl=2xlnx+x=:y2=21nx+"2+1=,y3 =2 g = b
X
72.  y? = 4x IEFEAT QR y = x AT 94 T CFad CFage] J97?

(a) 3 $q. units (b) 3 sq. units (©)7 9. units (d) 8 sq. units
y
4 4 4 3 2 4 4 3 42 8 (4,4)
HAAG. (3)1A=fn Z‘de_fuxdx:[;(x)z—?]ﬂ={§><42—-2—}=;5q.units k X
COos5X—C0s 2X dx —2
73. -r 1—cos X ’
(a) 2x + sinx +c¢ (b) x +sinx +c (c)x+sin2x+ ¢ (d)x+ 2sinx + ¢
] [ COSX—CDS 2X _ 2 sin>sin== sin3X* 3 sinX—4 5in3%
TAII: (d); f 1-cosx dx = -r zsinIEi dx = j sing dx = f gslni ¢ dx
2

-_-_|'(3—45in2§)dx=f{3-2(1—cusx)]dx=x+25inx+c

IR | 5 |




e e 73
74. x*(1 + x)8 tﬂ'ﬂ'ﬁl@%ﬁ x? Gq 9 97

(a) 0 (b) 1 (c) 2 (d) —1
A (a); x2(1 + x)¢ 97 RFFoTS x° 97 @FH M "2
75. 30 QT 40 T TR Lo @ (FIF GFHBIE (IS IR T, TN GNfers 1 5 97 ofdes 2679 TS 92

OF (b) ©) = @1 [Ans: c]
76. X+ a7 &F T G2

(a) 2 (b)1 (c) -2 (d) -1

TR (); () =x+2; T2 =1-2 =5 x =1

d?f(x) _ 2 d?f(x)

7 =3 X=—1TA <0 =~ f(x) 99 ¢FAM= -2

77.  x% +y? — 4x + 6y + c = 0 G X-FHF P I ¢ IF T F67
(a) 4 (b) 5 (©7 (d) 11
ATY: (a); g = —2, x-TTFF P S, c = g2 = ¢ = 4

78. 1+ 19999 4 (15557 —7

(2) 0 (b) 1 (c)—1 (d) 2
AAEM: (2); 1 + 0! + w5557 = 1 4+ @ + w?

79.  2f(x) + 3f(—) = x* — x + 1 TF f(xX) 9T I« 397
1 1 1
(a)gx2+x+-5- (b)-s—xz—x+§ (c)%xz—xvi—% (d)§x2+x—§
TN (2); 2f(x) + 3f(—x) = x2 —x+ 1. (@) & 2f(—0) + 3f(®) = x2 +x+ 1 ... ... ... (ii)
S X2—-(()x3 =2 -5fx)=—x*—-5x— 1= f(xX) = éxz +x+§
80. tan2xtanx = 1TF x 9 A F97

() nme + % (b)nmwt 2 (c) 2nm + = (d) 2nm — %
s P _ 2tan®x o5 1 h m
T4 (b); tan 2xtanx =1 = o, 1P tanx=t==x=nwt:
81. x+y=0,x—y=0,x="7 @I a9 e Trerem i foais 23?2
(2) 30°, 60°,90° (b) 60°, 30°, 90° (c) 45°, 45°, 45° (d) None
Y B

STAIYI: (d); It J0% 45°,45°,90° —a ke 7 } >X
F

C
82. 4y —3x = 3 ¥R 3y — 4x = 5 (A {207 TSNS FoAFIAT MAQLGC@d STFae @HB?
(A x—y+2=0 b)—x+y+2=0 c)x+y+2=0 (dx+y—-2=0
AMYN: (c); 4y —3x—3 =3y —4x—5=2y+x+2=10
83. ABC [&Sts a = 6cm,b = 8cm W32 ¢ = 10cm ZE cosB UF T 67

.‘.
1 3 + 2
@3 ®)5 . OF @2
202 12
STANTAT: (b); cos B = = = cosB =2
84. T JEBI¥ (FTH 24° I B S | I Jo& I 49 P19 = O3 € Fe19 Cwraqee T07? ;
(a) 125.72 sq. meter (b) 124.72 sq. meter (c) 123.72 sq. meter (d) 122.72 sq. meter
i 24 9\% o, .
STAIA: (); CFAFT = == X X (3) m? = 125.72m
1 T .
85. sin100° " cos10° =7 "
(a) 4 (b) 7 (c) 0 @3
vrone 1 43 c0s10°-v3sin10° _ 4(sin30°cos10%-cos30%sin10°) _ 4sin20°
ATHME: (a); sin10° cos10°  sin10°cos10° 2 5in 10? cos 10° ~ sinz20°

PR | EERCTTTTT




BUTEX 258

86. B = sin‘lgiﬁ 1=tn.0 qF ¥ T8°7

1+tan?0
() o= (b) 35 | OF @3
AN (b); sin 6 =%  tan B =% ::2:23 = -:—5
87. ﬁﬁi%x+y=1f§‘iﬁxz+yz—23x=ﬂmwﬁﬁtﬁ'?
(@a*—2a=1 (bya®*+2a=-1 (c)a®+2a=1 (d)a® —2a= -1
S (); x2 + y? — 2ax = 0 980 (&4 (a,0) AR FAME = a
a-1

n—==a=a’-2a+l=2a’=2a’+2a=1
va

88. W [ f(x)dx = 6 WO [ f(x + 1)dx 47 T 7
(@5 (b) 7 (c) D (d) 6
ariE: (d); R, x + 1=y, SR@ dx = dy ~ [°, f(x + Ddx = [} f(y)dy = [ fe0dx = 6

89. STMICRE WR® IR S Ao IeTRGe STCea fored T ©itad WS (I T2
(a) 0° (b) 45° (c) 60° (d) 90°
AN (c); 2909,3p? = p? + p? + 2p2cosB = B = 60°

90. P(A) =93 P(A N B) = - T P(B|A) = TO?
(2) OF © OF

AAHIF: (a); P(B|A) =

91. Select the pair that best expresses a relationship similar to that expressed in the original- VACCINE: PREVENT [Ans: d]

(a) wound : heal (b) victim : attend (c) diagnosis : cure (d) antidote : counteract

92. To look quickly through a book is an important study skill. [Ans: a]
(a) Skim (b) Summarize (c) Outline (d) Paraphrase

93. The word ‘Shrug’ indicating doubt or indifference is associated with- [Ans: a]
(a) Shoulders (b) Head (c) Forehead (d) Eyebrows

94, Find out the meaning of the phrase “Hobson’s Choice’? [Ans: c]
(a) tough choice (b) easy choice (c) no choice (d) free choice

95. He would have my support in a heartbeat. Here “heartbeat’ means- [Ans: b]
(2) automatically (b) in no time (¢) naturally (d) imminently

06. Which par of words is not synonymous? [Ans: c]
(a) Comprehend, Understand (b) Disperse, Scatter
(c) Amiable, Happy (d) Endeavour, Venture

97. Which of the following is the correct spelling? [Ans: a]
(a) Embarrassment (b) Embarasment (c) Embarrasment (d) Embarassment

08. Choose the correct sentence. [Ans: b]
(2) I have looked for a good doctor before I met you. (b) I had looked for a good doctor before I met you.
(c) I looked for a good doctor before I had met you.  (d) I am looking for a good doctor before meeting you.

99, The antonym of ‘Juvenile’ is- [Ans: b]
(a) Mature (b) Adult (c) Old (d) Young

100, Heisvexed  my opposition, [Ans: c]
(a) to (b) with (c) at (d) by
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